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The subscript on the coefficients is determined as follows : 
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The angular frequency associated with is 10π  (the fundamental)
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The angular frequency associated with is 20π  which is twice the fundamental 
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FOURIER SERIES TRANSFORMATIONS



Suppose we want to find the Fourier Series complex coefficients for the periodical signal  y(t) 

0

0
0

1 ( ) jk
yk

t

T

y t e t
T

C dω−= ∫Method 1 we can use

Question : can we find the coefficients of y(t) without using  the integration formula ?

Answer : Let us try the table 4-3 ?



Unfortunately there is no function
In the table that is identical to  y(t)

And it shouldn’t ? Why ?

That will require a table of an infinite
length to satisfies all possible periodical 
function

An impossible task !

So how can we use the table (known Coefficients)
To find the Coefficient of periodical function  ?

Next section will explain that



FOURIER SERIES TRANSFORMATIONS



If we are given the  signal  y(t) 
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This function y(t) resemble
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Example 4.9  Find Fourier Series complex coefficients for the periodical signal  y(t) 

From Table 4-3 we have
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